
   22 G10 CH 2 WS 10 Polynomials 
 

  
 

  

Grade - 10 www.thirdapple.in 
1 

Polynomials : Worksheet -10 

1. Find the other zeroes of the polynomial 81025 234 −++− xxxx if it is 

given that two of its zeroes are 2−  and 2 . 
 

 

 

 

 

 

2. If  and  are zeroes of the polynomial ( ) kxxxp ++= 52 2  satisfying the 

relation, 
4

2122 =++  , find the value of k. 

 

 

 

 

 

 

3. If  and  are zeroes of the polynomial ( ) 123 2 ++= xxxp , find the 

polynomial whose zeroes are 
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